EARAROBEEIERT — 2 N— IBISH —F

2014812828 (A) om#ntE2H

R EEXl

=M 102AL120FKE

‘ [R1%] & ‘ [REBE] — | & (£) 12000 AR

[A~&£] 1 7% :1,000,000  ~ 23 :300,000d 373 :180,000 "

4 7% 120,000 . 5 3& : 100,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— = — TREERAA 4. -1- X — NAAZ (1)
1 o|N=s5TY— L] i 1(1_4)7 1-1-1 38.8 5 :1_319) RRUL
L4 m B:T7AIVRECR JNE 1#%k
i i 3 | EEAHlsE 1:15.3 2-2-2  |39.3| — 1 465 | =AE— (1)
21717 A — K~ TIVL—L 54.0 (3) “+7) KB
R:A—TJ XA A4 B:Av—bMKRLZ FEZX %Y K
3 —O—L 4 3 | BIH 1:15.6 6-7-7 38.9| — 3 463 | WWEHE (1)
3011 |3A&2—-0O—-L 22X 56.0 A 1/2) (-3) | EBARAREL
L:XFATd=IK B:o1> K37 L @E
. 9 1L iy R £ : -3 — gz (1)
NETEIZIVIEE: i 3 Gl 1(.;/54.)7 3-3-3 | 39.4 2 (4_3;)) /H; o
L:¥r/0704 BiehlbbFxx Lalicke]
N BEEXEH :15. -5 . - R (AAfE)
5| 75 XA L 3 =% 1(715533 5-5-6 | 39.3 6 (4_815) el &
A=K7 Y1— B:ZSAhFA BT —L
SHFINS 4 3 | BHE 1:16.1 7-6-5 |39.6| — 8 454 | FEIAKGE (FF0)
6l13F3Iu57 56.0 (1 1/2) (-8 |FATR
Lyrh—r B/-—HrXa— THES
S 4 3 | BBXS 1:16.6 4-4-4 | 40.2| -— 7 431 | HHIBEE (01)
3| A= ¥ 27—+ 54.0 (2 1/2) ) (Iﬁl)ﬁJ P N#ZHt
RNI&—-TAT72— B:FL>ITOvHL HET7—L
. 4 3 | HilRThth 1:16.8 8-8-8 |39.9| — 4 449 | HEEFEER (#A1B)
8/8|8 XA RATJITT > 54.0 1) (+5) (A) 7“}';5'77—L\
A:Giant’s Causeway #:2EH—/N 7297777 =14
® I —F—@EBIERL
13—7—
23—F— 2,7,4,3,5,1,6,8
G§a=7r= 2,7,4,3,5,6,1,8
41—+ — 2,7,4,3,6,5,1,8
[ RN
BB 2 1,500 714K 2-7 540M B E 2-7 1,280/ &R 1-2-7 1,990
% B 2 300/ 1-2 1,230 | | B B 2-7 5,560M | | 3:EE 2-7-1 26,740M
7 1104 1-7 300M
1 190M9

ABICOVWTRDTEEERROODE. TR LIV,




